


Q15. FIND THE MISSING TERM 

(a) MWF 
(b) NWG 
(c) NXF 
(d) NWF 

FKP, HNT, JQX, LTB,?



Q16. FIND THE MISSING TERM 

(a) GIO 
(b) GHO 
(c) FIP  
(d) FIO 

SWA , OAW , KES , ? , CMK



Q17. FIND THE MISSING TERM 

(a) GIO 
(b) GHO 
(c) FIP  
(d) FIO 

SKH , OCL , KEP , ? , CUX



Q18. FIND THE MISSING TERM 

(a) RPJ  
(b)  SPJ 
(c) SQJ  
(d) RQI 

JVD , MTF , PRH , ? , VNL



Q19. FIND THE MISSING TERM 

(a) Q  
(b)  T 
(c) E  
(d) I 

Z,  D , H , N  , ? 



Q20. FIND THE MISSING TERM 

(a) Q  
(b)  T 
(c) P  
(d) Z 

B,  F , J , ?  , V 



Q21. FIND THE MISSING TERM 

(a) OF  
(b)  FO 
(c) OE 
(d) NOT 

ND,  YI , DT , OY  , ?? 



Q21. FIND THE MISSING TERM 

(a) OF  
(b)  FO 
(c) OE 
(d) NOT 

ND,  YI , DT , OY  , ?? 



Q22. FIND THE MISSING TERM 

(a) HS11  
(b)  SH10 
(c) HS8 
(d) SH10 

RI9,  VE17 , ZA25 , DW17  , ? 



Q23. FIND THE MISSING TERM 

(a) ZI18 
(b)  ZI81 
(c) IZ9 
(d) IZ18 

QD6,  TC4 , XB1 , CA23  , ? 



Q.24 How many such pairs of digits are there in the number 

8412673194 which have as many digits between them as they 
have in number series? (In both directions)  संख्या 
8412673194 में अंकों के ऐसे ककतने जोड ेहैं जजनके बीच उतन ेही अंक 
हैं जजतने कक संख्या श्रखंला में हैं? (दोनों ददशाओं में) 

  (1)  One     

(2)  Two  

(3)  Three  
(4)  Four 



Q.25 How many such pairs of letters are there in the word 

BWOEMQR each of which have as many letters between them 

in the word, as they have in the English alphabet ? 
 शब्द BWOEMQR में अक्षरों के ऐसे ककतने जोड ेहैं जजनमें से प्रत्येक 
के बीच उतन ेही अक्षर हैं जजतने कक अगें्रजी वर्णमाला में उनके बीच हैं? 

  

(1) FOUR  

(2) THREE 

(3) FIVE  
(4) NOT 



Q.26 The positions of how many digits in the number 

83154726 will remain unchanged after the digits are 
rearranged in descending order within the number ? संख्या 
83154726 में अंकों को अवरोही क्रम में पुनर्वयणवजथित करने के बाद 
संख्या 83154726 में ककतन ेअंकों का थिान अपररवर्त णत रहेगा? 

  

(1) Four  

(2) One 

(3) Two 
(4) Three 



Q.27 

ZYZAYFBBFUUYBFFYUCBFNIYACAUUAABYYYYYCAUOYC 

How many Y’s are there in the above arrangement which is 
immediately followed by a Consonant? उपरोक्त र्वयवथिा में ऐसे 
ककतने Y हैं जजनके ठीक बाद एक र्वयंजन आता है? 

  

(1) Four  

(2) Seven 

(3) THREE 
(4) NOT 


